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First Obligatory Part: Using economic concepts and skills (7 points)

1-

Copy the following table and fill in the blanks with the appropriate answer:

The principle in the A positive A negative consequence An appropriate measure in
Classical Liberal system | consequence that may result from its the Neo-liberal system to
application correct the negative
consequence

Free currency
exchange

Monopoly and price
dumping
A country decided to increase its spending on rehabilitation and vocational training for workers in some
sectors:
2.1-Name the adopted developmental policy.
2.2-Show its effect on the economic situation.
In a certain country, the economic indicators signaled a decrease in economic growth rates from 8% to
7% then to 5% during the years 2010, 2011 and 2012. Knowing that these rates are lower than the
population growth rates in these years:
3.1-Specify the stage of the economic cycle through which this country is passing.
3.2-Deduce the form of growth. Justify your answer.
A joint stock company decided the following:

- Dismissing three employees

- Increasing its capital

- Giving a financial reward for five employees

- Not distributing part of the dividends to shareholders in order to increase its retained earnings
4.1-Among the decisions stated above, choose the strategic ones.
4.2-Specify which of the decisions stated above contributes in motivating employeeswhile mentioning

the type of this motivation.
The Total Cost of a certain enterprise is: TC= 0.9Q + 0.6Q+ 5000
The marketprice is: P = 1.4Q + 50.6
5.1-Calculate the quantity of production (Q) at which the enterprise may maximize its profit.
5.2-Calculate the average fixed cost, the average variable cost and the average cost at this level of
production.

Nazih purchased a new machine for his enterprise. He paid 3,000 m.u. from its price as a down payment
and the rest over five yearly equal installment payments worth 2,000 m.u. each.
It is expected that using this machine will generate total revenues worth 29,000 m.u. after four years.
Knowing that the yearly interest rate is 8%, specify if buying this machine is a profitable investment for
the enterprise justifying your answer with the appropriate calculations.

Choose one of the following options:
First Optional Part: Analyzing Economic documents (12 pts)

Document 1:
...The president of the labor union confirms that the unemployment rate of the Lebanese youth surpassed 37% in 2013
declaring that this rate was estimated after adding the young who lost their jobs in 2013, the university graduates searching
for job opportunities, the young who immigrated and the deterioration in the real growth rates.

While

searching for the cause of the crisis, we find the following main factors:

(1.5 pts)

(0.25 Pt)
(0.5 Pt)

(0.25 pt)
(0.5 pt)

(0.5 pt)
(0.5 pt)

(0.75pt)

(0.75 pt)

(1.5 pts)

The availability of a major gap between the requirements of the labor market and what is being taught at

universities.

The bad economic situation through which Lebanon is passing and the decrease in the number of tourists.

The dismissal of employees from the Gulf countries.
The war in Syria and its effect on the Lebanese economy.

What raises concern, according to experts, is the high level of unemployment among those who hold postgraduate degrees
and those who are skilled.
The disturbances that hit Syria certainly affect the movement of the Lebanese exports when Lebanon depends on Syria as a

gateway for its exports without disregarding the damage affecting the Lebanese touristic sector.
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Document 2 :
(...) On the macroeconomic level, Lebanon suffers from the following indicators:
- The persistence of the budget deficit and the allocation of a significant part of this deficit to attain objectives that
contribute to deepen the waste instead of improving the rules of the production process.
- Our inability to cope with the technical advancements in the fields of telecommunication, financial markets,
hospitalization, medical and educational services.
- In sum, the state, through its budget, taxes, fees and its services with its institutions became the main catalyst or the
obstacle of 50 percent of the volume of the domestic economy.
2013/1/4- Sl sLaBY) M) ol glade gl A 20 () 5 5e Jlie ;j2aall
Document 3 :
.... To accelerate the economic activity, there should be an increase in consumption.
(...) Here appears the problem since consumption is related to consumer’s purchasing power; hence to the level of inflation
and the level of taxes.
The government and the political parties have to alienate the economy from the political issues that only lead to the
disturbance of investors’ confidence.
2013 dlac aula sud g 4y sgenllidma 1 Haadll

By referring to the documents above, answer the following questions:

1- - Referring to document (1):
1.1-Deduce the two types of unemployment justifying your answer with one proof for each type. (1pt)
1.2-Show the effect of the disturbances that affect Syria on one of the two types of unemployment. (0.5 pt)

2- Itis mentioned in document (2): “The persistence of the budget deficit ... instead of improving the rules of the
production process.”

2.1-Specify the type of public expenditures that leads to this deficit. (0.5pt)
2.2-Explain the negative effect of the structure of the public expenditures in Lebanon on economic growth. (0.5 pt)
2.3-Suggest a structural policy to solve the budget deficit while mentioning two of its measures. (1pt)
3- 3.1-Extract from document (2) the reason that raises experts ‘concern regarding the high unemployment level
of those who hold postgraduate degrees and those who are skilled as stated in document(1). (0.5pt)
3.2-State a direct negative economic consequence for this reason. (0.5 pt)
3.3- Link between this consequence and the economic situation. (1 pt)
4- - Explain, using a logical sequence, the relation between political issues mentioned in document (3) and the
bad economic situation referred to in document (1). (1pt)

5- Itis mentioned in document (3): “To accelerate the economic activity, there should be an increase in
consumption.”

5.1 -Name the suggested policy. (0.5pt)
5.2 -Evaluate this policy from an economic perspective. (0.5 pt)
5.3 -Show how implementing this policy aggravates the budget deficit. (0.5 pt)

6- By referring to the documents above, write a text in which you suggest:
- An appropriate policy to address, at the same time, the economic situation and one of the two types of
unemployment without resulting in negative repercussions while mentioning two of its measures and linking
between these two measures and the two intended economic and social objectives.
- An appropriate policy to solve the other type of unemployment and one measure within this policy while
linking between this measure and the solution of the problem. (4pts)

Second Optional Part: Studying an Economic Subject (12 points)

According to the latest statistics of the Lebanese customs, Lebanon ranks among the first countries with a volume of
imports reaching five times that of its exports. With the decrease in customs duties in 1995, this difference aggravated when
singing free trade agreements with other countries....In all these cases, the industry in Lebanon faced unfair competition. This
resulted in the movement of the Lebanese competencies with their capital and long experience to countries that motivate and
encourage investment. This also resulted in the brain drain of the Lebanese due to the lack of job opportunities in Lebanon.

Adapting an appropriate policy in Lebanon is required nowadays for the following reasons:

- The industrial cost of production in Lebanon is high due to the measures taken by the State with respect to duties on fuels
and others......
- Lebanon passed through thirty five years of war and severe conflicts...This made the industrial sector far from
modernization; consequently far from lowering production costs and improving quality ....
2011-1-10 — (2 usn — sl 33 8 1 sl
Based on your knowledge and the information given in the document above, write an essay in which you:
- Show the situation of the industrial sector in Lebanon
- Suggest two measures to solve each of the stated problems
- Link between the application of each of the proposed measures and the intended objectives
Remark: Organization (0.5 point), legible handwriting (0.25 point), style (0.25 point)
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